A2 Klo] HA AFAXF A Q

1.

- 8AIRF oYl LRARMEA] g 1.58) 7RIS
- AR 2 LRARMRE g9 2.08) MRS

100%

) / 2% Al

FL2RAT 100% AT

8t
a

g AEX (gl ol =

- LA

>

<5Q1 ol A%

FLIR4T 150% A

) / 2% Al

=13
o

. 37t ReX (88 oo =

o2& Al

- 92A:

Aitstol o Xgsts €M £ MaEH 22X FLotH

e
o=

(o)
[ ]

=

)

F

F

7
—

A

i

)
)

of
nd

oll

of YEE XIFWE 4

TE2HZ

AAE AT (100%)0 227|FEH H 55X 30 st U2 IIMUZ(150%)2 F7t X|25}0{of

. (ZE27|F1t-848)

ol

jorl

® ByR7IA

il o

_
N
__OW

L 8A17F X 158} = 1247t / 1.59

+
(@)

ok
ok

—

O

~

X 18] = 84]

- 2eAidEe] Auge Ba

@ FLoiA X

@ AXFA| X

]

oz
27 oo

R
Al
—1

[

2arto] e
xoja} shejete

R
[S)
2
O

ol
=
ol
=

2 HAsfof ot

ol
=



